Sr

10

1"

12

13

14

15

Questions

=S e (S S ame (B

U ol S B e OS5 adl 8 L S

o S 23 (S 5 s (50 WG DU G s TS (e 0 )51 nlie

€t S 3 (S s Son b sy U3 3 S (e e

0 S () s S e B

ke w K LAl S

up SR WL 55 A

O 583 b S (e dma o B S ama

(585 NS oy o8 0 (i )l (S (TS e e 50

dy&anSui)i

= US iy (5 AT 8 S Jla Wb S ol (e oy (S

= U LS nna-

o gl cs Cana (et

deb&&#mwéu&ﬂ‘w_,ﬁuaﬂﬂmﬁ‘)&

PRSP XL KPS

Answers Choice

A. 20 Jw
B.25Jw
C. Jws23 Ly i
D. 28 J

A 3850 & s

B. Jal & juas
Jil s & pas
Jil e Giuas

35
20
30
28

70
86
90
75

114
120
115
119

e R

Tl
oA
= 80

= s ol Bla
PR
sl alal

= 65 Chalas s

70
55
60
110

Jias

Gl daln
<\all

Shie s

QS My s a5
Gy s e
G g PR ENp 1
G My s S

BES)
G PN
e o B

]

e gl Uase
A Y
S G s g2

L S8 sl b 0

DOW> DOWP DOWP DOW> D0WP» UOUP DO0W> 00®r UO0®r 0D0UP U0®P» OO0

oo w

>
[

B. Adila dsa
C. iy s
D. dlae rdma

A, sl

B. S

C. Vs

D. e oyl gl



16

17

18

19

20

= Shely) s s (e 0l B g

C@C,')swuﬁus@‘migw;@w.

mosralS I Sleaculgé-

s OR s b S S ama o A=

= 2a3 (S Gsa (e el K rpe-

DOm> DOW

OW> TOW> UOw

Gale
iyl
ol

70
66

50

12
10



